
Apêndice B

Derivada de log
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Vamos usar

log(x/y) = log(x)− log(y) (B.1)
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log(x) = 1/x (B.2)
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Para

V = log

(√

x2 + a2 + a
√

x2 + a2 − a

)

(B.5)

Temos

V = log
(

√

x2 + a2 + a
)

− log
(

√

x2 + a2 − a
)

(B.6)

e portanto

dV

dx
=

x
√

x2 + a2(
√

x2 + a2 + a)
−

x
√

x2 + a2(
√

x2 + a2 − a)

=
x

√

x2 + a2

(

1
√

x2 + a2 + a
−

1
√

x2 + a2 − a

)

=
x

√

x2 + a2

(√

x2 + a2 − a−

√

x2 + a2 − a

(x2 + a2)− a2

)

=
x

√

x2 + a2

(

−2a

x2

)

= −

2a

x
√

x2 + a2
(B.7)

121


	Derivada de log(x2+a2+ax2+a2-a)

